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Dairy Products Calcium Content Lactose Content

Ice cream/ice milk (8 oz.) 176 mg. 6-7g

Milk
(whole, low-fat, skim, buttermilk, 8 oz.) 291-316 mg. 12-13g

Processed cheese (1 oz.) 159-215 mg. 12-13g

Sour cream (4 oz.) 134 mg. 4-5g

Yogurt (plain, 8 oz.) 274-415 mg. 12-13g

Fish/Seafood Calcium Content Lactose Content

Oysters (1 cup, raw) 226 mg. 0

Salmon with bones (canned, 3 oz.) 167 mg. 0

Sardines (3 oz.) 371 mg. 0

Shrimp (canned, 3 oz.) 98 mg. 0

Other Calcium Content Lactose Content

Molasses (2 tbsp.) 274 mg. 0

Tofu
(processed with milk salts, 3 oz.) 225 mg. 0

In Summary…
(YHQ�WKRXJK�ODFWRVH�LQWROHUDQFH�LV�D�ZLGHVSUHDG�DQG�XQFRP�
IRUWDEOH�SUREOHP��LW�LV�QRW�JHQHUDOO\�D�PDMRU�WKUHDW�WR�\RXU�JRRG�
KHDOWK��:RUNLQJ�ZLWK�\RXU�JDVWURHQWHURORJLVW��D�WUHDWPHQW�SODQ�
ZLOO�EH�GHYHORSHG�WR�NHHS�\RXU�V\PSWRPV�WR�D�PLQLPXP��$QG��
PDQ\�SDWLHQWV�ZLOO�EH�DEOH�WR�HQMR\�GDLU\�SURGXFWV�DJDLQ�DW�D�
ODWHU�SRLQW�LQ�WLPH�

(���

Read Labels! 5HPHPEHU��\RX�FDQ�DOZD\V�ÀQG�
RXW�KRZ�PXFK�FDOFLXP�LV�LQ�D�SDUWLFXODU�IRRG�E\�
ORRNLQJ�DW�LW
V�ODEHO��<RX�FDQ�DOVR�ÀQG�RXW�ZKHWKHU�

RU�QRW�LW�FRQWDLQV�ODFWRVH�E\�UHDGLQJ�WKH�ODEHO�DQG�ORRNLQJ�IRU�
LQJUHGLHQWV�VXFK�DV�PLON��PLON�E\�SURGXFWV��PLON�VROLGV��QRQ�
IDW�GU\�PLON�SRZGHU��ZKH\��FXUGV��FDVHLQDWH��RU�ODFWRJOREXOLQ�



How much calcium to 
you need?

$FFRUGLQJ�WR�WKH�1DWLRQDO�,QVWLWXWHV�RI�+HDOWK��WKH�UHFRPPHQGD�
WLRQV�IRU�GDLO\�FDOFLXP�LQWDNH��LQ�PLOOLJUDPV
�RU�PJ���DUH�

$JH�LQ�\HDUV 0HQ :RPHQ

����� ����������� �����������

����� ����� �������SUH�PHQRSDXVDO�

����� ����� �������SRVW�PHQRSDXVDO�	�WDNLQJ�HVWURJHQ�
�������SRVW�PHQRSDXVDO��QRW�WDNLQJ�HVWURJHQ�

��� ����� �����


������PLOOLJUDPV��PJ��� ���JUDP��J��

%\�NQRZLQJ�KRZ�PXFK�FDOFLXP�\RX�QHHG��\RX�FDQ�HDW�WKH�EHVW�
IRRGV�WR�VXSSO\�\RXU�QHHGV�

7KH�IROORZLQJ�FKDUW�KHOSV�WR�XQGHUVWDQG�ZKLFK�IRRGV�WR�DYRLG��
WKRVH�ZLWK�KLJK�ODFWRVH�FRQWHQW��$OVR��\RX�FDQ�VHH�ZKLFK�IRRGV�
DUH�ORZ�LQ�ODFWDVH��EXW�KLJK�LQ�FDOFLXP��(DW�PRUH�RI�WKRVH�

&DOFLXP�DQG�/DFWRVH�LQ�&RPPRQ�)RRGV

When milk becomes 
a problem: 
Lactose Intolerance
What is it?
1RUPDOO\��WKH�ERG\�LV�DEOH�WR�GLJHVW�ODFWRVH�E\�SURGXFLQJ�DQ�
HQ]\PH�FDOOHG�ODFWDVH��/DFWDVH�LV�QDWXUDOO\�SURGXFHG�LQ�WKH�ERG\�
E\�WKH�DEVRUSWLYH�FHOOV�LQ�WKH�VPDOO�LQWHVWLQH�

:KHQ�WKH�HQ]\PH�ODFWDVH�DFWV�RQ�WKH�VXJDU�ODFWRVH��ODFWRVH�LV�
EURNHQ�GRZQ�WR�D�PRUH�VLPSOH�VXJDU�WKDW�FDQ�EH�DEVRUHG�LQWR�
WKH�EORRGVWUHDP�DQG�XVHG�E\�WKH�ERG\�

:KHQ�WKH�ERG\�GRHV�QRW�SURGXFH�HQRXJK�RI�WKH�HQ]\PH��WKH�
ODFWRVH�FDQQRW�EH�GLJHVWHG�SURSHUO\�

0RVW�LQIDQWV�DQG�FKLOGUHQ�KDYH�HQRXJK�RI�WKH�ODFWDVH�HQ]\PH�
WR�GLJHVW�PLON��ZKLFK�LV�YHU\�LPSRUWDQW�WR�QRUPDO�JURZWK�DQG�
GHYHORSPHQW��%XW��DV�ZH�DJH��WKHUH�LV�D�QDWXUDO�UHGXFWLRQ�LQ�WKH�
DPRXQW�RI�ODFWDVH�SURGXFHG�E\�WKH�ERG\��:KHQ�WKH�ERG\�VWRSV�
SURGXFLQJ�ODFWDVH�RU�GRHV�QRW�SURGXFH�HQRXJK��WKH�FRQGLWLRQ�LV�
NQRZQ�DV�ODFWDVH�GHILFLHQF\�

Who is affected?
(YHQ�WKRXJK�PLON�DQG�PLON�SURGXFWV�DUH�D�SULPH�VRXUFH�RI�FDOFL�
XP�DQG�PDQ\�RWKHU�HVVHQWLDO�YLWDPLQV�DQG�PLQHUDOV��WKRVH�YHU\�
SURGXFWV�FDQ�FDXVH�GLVFRPIRUW�IRU�D�ODUJH�JURXS�RI�SHRSOH�

/DFWRVH�LQWROHUDQFH�DIIHFWV�DQ�HVWLPDWHG����WR����PLOOLRQ�
$PHULFDQV��RU�DV�PXFK�DV�����RI�WKH�DGXOW�SRSXODWLRQ��$V�PDQ\�
DV�����RI�$VLDQ�$PHULFDQV�DUH�VDLG�WR�EH�ODFWRVH�LQWROHUDQW��
3HUVRQV�ZKR�DUH�$IULFDQ�$PHULFDQ��-HZLVK��1DWLYH�$PHULFDQ�
DQG�0H[LFDQ�$PHULFDQ�DUH�DOVR�PRUH�SURQH�WR�WKH�SUREOHP��
3HUVRQV�RI�QRUWKHUQ�(XURSHDQ�GHVFHQW�DUH�OHDVW�OLNHO\�WR�GHYHORS�
WKH�SUREOHP�
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Lactose intolerance is simply the inability 
to digest lactose, which is a complex, 
natural sugar found in milk and milk products.

Vegetables Calcium Content Lactose Content

Broccoli pieces (1 cup, cooked) 94-177 mg. 0

Chinese cabbage/bok choy
(1 cup, cooked) 158 mg. 0

Collard greens (1 cup, cooked) 148-357 mg. 0

Kale (1 cup, cooked) 94-179 mg. 0

Turnip greens (1 cup, cooked) 194-249 mg. 0
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�What causes lactose 
intolerance?
��+DYLQJ�DQ�LQDGHTXDWH�DPRXQW�RI�ODFWDVH�PD\�EH�WHPSRUDU\��
� RU�SHUPDQHQW�

�� 6RPHWLPHV�WKH�GHILFLHQF\�RI�ODFWDVH�FDQ�EH�D�QDWXUDO�UHVXOW�RI
� DJLQJ�

Other causes include:
�� FHUWDLQ�LQWHVWLQDO�LQIHFWLRQV

�� JDVWULF�VXUJHU\

�� WDNLQJ�VRPH�PHGLFDWLRQV��IRU�H[DPSOH��DQWLELRWLFV�DQG�VRPH�
� DQWL�LQIODPPDWRU\�GUXJV�XVHG�WR�WUHDW�DUWKULWLV�

�� UDUHO\��D�SHUVRQ�LV�ERUQ�ZLWKRXW�WKH�DELOLW\�WR�SURGXFH�ODFWDVH

What are the 
symptoms of 
lactose intolerance?

7KH�ERG\�PD\�SURGXFH�VRPH�RU�QR�ODFWDVH��'HSHQGLQJ�RQ�WKH�
OHYHO�RI�GHILFLHQF\��GLJHVWLRQ�RI�ODFWRVH�ZLOO�EH�LPSDLUHG�WR�D�
OHVVHU�RU�JUHDWHU�GHJUHH��7KHUHIRUH��V\PSWRPV�PD\�UDQJH�IURP�
PLOG�GLVFRPIRUW�WR�PDMRU�GLVFRPIRUW�
7KH�VHYHULW\�RI�WKH�V\PSWRPV�GHSHQGV�DOVR�RQ�WKH�DPRXQW�DQG�
W\SH�RI�IRRG�HDWHQ��)RU�LQVWDQFH��LI�\RX�DUH�ODFWDVH�GHILFLHQW��WKH�
PRUH�ODFWRVH�\RX�WDNH�LQ��WKH�ZRUVH�V\PSWRPV�ZLOO�EH�
6\PSWRPV�RFFXU�DIWHU�HDWLQJ�DQ\�ODFWRVH�ODGHQ�IRRG�WKDW�FDQQRW�
EH�GLJHVWHG�ZHOO��'LVFRPIRUW�XVXDOO\�EHJLQV����PLQXWHV�WR�WZR�
KRXUV�DIWHU�HDWLQJ��EXW�PD\�EH�GHOD\HG�DV�ORQJ�DV�HLJKW�KRXUV�
DIWHU�HDWLQJ�
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Lactase additives

2YHU�WKH�FRXQWHU��QRQ�SUHVFULSWLRQ��SURGXFWV�DUH�DYDLODEOH�WKDW�
FRQWDLQ�ODFWDVH��WKH�HQ]\PH�QHHGHG�WR�GLJHVW�ODFWRVH��VR�SDWLHQWV�
PD\�EH�DGYLVHG�WR�XVH�VXFK�D�SURGXFW�ZKHQ�EHJLQQLQJ�WR�
DOORZ�ODFWRVH�FRQWDLQLQJ�IRRG�EDFN�LQWR�WKH�GLHW��6RPH�RI�WKRVH�
SURGXFWV�DUH�/DFWDLQ��/DFWUDVH��'DLU\�(DVH�DQG�6XUH�ODF��6RPH�
DUH�LQ�OLTXLG�IRUP�DQG�FDQ�EH�DGGHG�WR�PLON�WR�UHGXFH�ODFWRVH�
FRQWHQW��2WKHUV�PD\�EH�WDNHQ�E\�PRXWK�LQ�WDEOHW�RU�JUDQXOH�
IRUP�DQG�KHOS�SHRSOH�GLJHVW�IRRGV�WKDW��FRQWDLQ�ODFWRVH�

0DQ\�VXSHUPDUNHWV�VWRFN�PLON�WKDW�KDV�EHHQ�SURFHVVHG�WR�EH�
ODFWRVH�IUHH��,W�RIWHQ�FRVWV�PRUH�WKDQ�RUGLQDU\�PLON�

Getting enough calcium

'DLU\�SURGXFWV�DUH�WKH�PDLQ�VRXUFH�RI�FDOFLXP��ZKLFK�LV�
HVVHQWLDO�IRU�JRRG�KHDOWK��+DYLQJ�HQRXJK�FDOFLXP�LQ�WKH�GLHW��
KHOSV�SUHYHQW�RVWHRSRURVLV��ZKLFK�FDXVHV�ERQHV�WR�EHFRPH�
WKLQ��EULWWOH�DQG�HDVLO\�EURNHQ��&DOFLXP�DOVR��KDV�PDQ\�RWKHU�
LPSRUWDQW�IXQFWLRQV�LQ�WKH�ERG\��LQFOXGLQJ�KHDOWK\�IXQFWLRQLQJ�
RI�HDFK�FHOO�LQ�\RXU�ERG\�

7KRVH�ZKR�DUH�ODFWRVH�
LQWROHUDQW�PXVW�EH�DZDUH�
WKDW�HYHQ�WKRXJK�ODFWRVH�

FRQWDLQLQJ�IRRGV�PXVW�EH�UHVWULFWHG�IRU�D�WLPH��WKH�ERG\�ZLOO�VWLOO�
QHHG�DGHTXDWH�VXSSOLHV�RI�WKH�YLWDPLQV�DQG�PLQHUDOV��HVSHFLDOO\�
FDOFLXP��W\SLFDOO\�IRXQG�LQ�GDLU\�SURGXFWV��$JDLQ��ZLVH�IRRG�
FKRLFHV�DUH�D�PXVW��&DOFLXP��DV�ZHOO�DV�RWKHU�QXWULHQWV�LQ�GDLU\�
SURGXFWV��PD\�DOVR�EH�IRXQG�LQ�RWKHU�IRRGV��VR�JRRG�QXWULWLRQ�
FDQ�VWLOO�EH�PDLQWDLQHG��ZKHQ�IRRGV�DUH�FKRVHQ�ZLWK�FDUH��,Q�
VRPH�FDVHV��\RX�PD\�EH�DGYLVHG�WR�WDNH�D�FDOFLXP�VXSSOHPHQW�
WR�PDNH�VXUH�\RX�JHW�WKH�QHHGHG�DPRXQW�RI�FDOFLXP��0RVW�
FDOFLXP�VXSSOHPHQWV�GR�QRW�FRQWDLQ�ODFWRVH��EXW�UHDG�WKH�
LQJUHGLHQW�OLVW�RU�DVN�\RXU�SKDUPDFLVW�WR�PDNH�VXUH�

The degree of symptoms felt from lactose 
intolerance is a matter of the amount of 
lactase deficiency (whether a person is 
completely or partially deficient) and the 
amount of lactose-containing food eaten 
(whether or not a person eats a lot or a 
small amount of lactose-containing foods).

Again, wise food
choices are a must!



Diet changes
��$YRLG�PLON�DQG�PLON�SURGXFWV�VXFK�DV�LFH�FUHDP��EXWWHU�DQG�
FKHHVH�
��$YRLG�IRRG�LWHPV�WKDW�FRQWDLQ�ODFWRVH��$YRLG�DQ\�IRRGV�WKDW�
OLVW�WKH�IROORZLQJ�DV�DQ�LQJUHGLHQW��PLON��ZKH\��FXUGV��FDVHLQDWH��
ODFWRJOREXOLQ��RU�PLON�E\�SURGXFWV�
��$YRLG�FHUWDLQ�PHGLFDWLRQV��$ERXW�����RI�SUHVFULSWLRQ�GUXJV�
DQG����RI�RYHU�WKH�FRXQWHU�GUXJV�XVH�ODFWRVH�DV�D�EDVH�LQJUHGL�
HQW��)RU�H[DPSOH��PDQ\�ELUWK�FRQWURO�SLOOV�FRQWDLQ�ODFWRVH��DV�GR�
VRPH�PHGLFDWLRQV�IRU�VWRPDFK�DFLG�JDV��$VN�\RXU�SKDUPDFLVW�
ZKHQ�LQ�GRXEW�
�� /RRN�IRU��KLGGHQ��VRXUFHV�RI�ODFWRVH��/LYLQJ�ZLWK�ODFWRVH�
LQWROHUDQFH�PHDQV�EHLQJ�D�VPDUW�FRQVXPHU��WKHUH�DUH�PDQ\�
�KLGGHQ��VRXUFHV�RI�ODFWRVH�WKDW�DUH�QRW�WKH�REYLRXV�GDLU\�SURG�
XFWV��([DPSOHV�RI�VRPH�IRRGV�WKDW�PD\�KDYH�KLGGHQ�VRXUFHV�RI�
ODFWRVH�DUH�
�� VDXFHV
�� GULHG�PL[HV��FDNHV��SDQFDNHV��ELVFXLWV��FRRNLHV��HWF��
�� FDQGLHV
�� SURFHVVHG�VDQGZLFK�PHDWV
�� EUHDG�	�RWKHU�EDNHG�JRRGV
�� SURFHVVHG�EUHDNIDVW�FHUHDOV
�� LQVWDQW�SRWDWRHV
�� VRXSV
�� EUHDNIDVW�GULQNV
��PDUJDULQH
�� OXQFK�PHDWV
�� VDODG�GUHVVLQJV
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7KH�PRVW�FRPPRQ�V\PSWRPV�DUH�

� � �*DV
� � �%ORDWLQJ
� � �1DXVHD
� � �'LDUUKHD
� � �$EGRPLQDO�3DLQ

Is lactose 
intolerance serious?
(YHQ�WKRXJK�LW�LV�D�ZLGHVSUHDG�DQG�XQFRPIRUWDEOH�SUREOHP��
ODFWRVH�LQWROHUDQFH�GRHV�QRW�JHQHUDOO\�SRVH�D�VHULRXV�WKUHDW�WR�
KHDOWK��7KH�DYHUDJH�SDWLHQW��RQFH�GLDJQRVHG��FDQ�OHDUQ�WR�PRGLI\
WKH�GLHW��XVH�VSHFLILF�SURGXFWV�GHVLJQHG�WR�KHOS�GLJHVW�PLON��DQG�
XVXDOO\�HOLPLQDWH�WKH�GLVFRPIRUW�DVVRFLDWHG�ZLWK�WKH�FRQGLWLRQ�

How is lactose intolerance 
diagnosed?
3HRSOH�ZKR�KDYH�D�GHILFLHQF\�RI�ODFWDVH�RIWHQ�QRWLFH�RQ�WKHLU�
RZQ�WKDW�WKH\�KDYH�SUREOHPV�DIWHU�HDWLQJ�RU�GULQNLQJ�GDLU\�
SURGXFWV��$V�V\PSWRPV�JURZ�ZRUVH��WKH\�RIWHQ�VHH�D�GRFWRU�IRU�
GLDJQRVLV�
�

Remember: (YHQ�WKRXJK�ODFWRVH�LQWROHUDQFH
PD\�VHHP�HDV\�WR�GLDJQRVH��WKHUH�DUH�RWKHU��PRUH�
VHYHUH�LOOQHVVHV�WKDW�KDYH�VLPLODU�V\PSWRPV��

$Q\WLPH�WKHUH�LV�D�FKDQJH�LQ�\RXU�SDUWLFXODU�GLJHVWLYH�
SURFHVVHV��LW�VKRXOG�EH�FKHFNHG�RXW�E\�\RXU�GRFWRU��WR�
PDNH�VXUH�\RX�GR�QRW�KDYH�D�PRUH�VHULRXV�LOOQHVV�



Seemingly simple tactics to reduce stress 
can have dramatic, long-term benefits.

How is lactose 
intolerance treated? 
7KHUH�LV�QR�NQRZQ�ZD\�WR�LQFUHDVH�WKH�SURGXFWLRQ�RI�ODFWDVH�LQ�
WKH�ERG\��VR�V\PSWRPV�RI�ODFWRVH�LQWROHUDQFH�DUH�XVXDOO\�WUHDWHG�
E\�FRQWUROOLQJ�GLHW�

&KLOGUHQ�ZKR�KDYH�EHHQ�ERUQ�ZLWK�ODFWDVH�GHILFLHQF\�PXVW�QRW�
EH�IHG�DQ\�IRRGV�WKDW�FRQWDLQ�ODFWRVH��*HQHUDOO\�VSHDNLQJ��ROGHU�
FKLOGUHQ�DQG�DGXOWV�XVXDOO\�FDQ�KDQGOH�VRPH�ODFWRVH�
7UHDWPHQW�RI�ODFWRVH�LQWROHUDQFH�XVXDOO\�EHJLQV�ZLWK�D�WULDO�GLHW�
WKDW�UHVWULFWV�ODFWRVH�FRQWDLQLQJ�IRRGV��:KHQ�V\PSWRPV�KDYH�
LPSURYHG��WKH�SK\VLFLDQ�PD\�VXJJHVW�DGGLQJ�VRPH�RI�WKH�
IRRGV�EDFN�LQWR�WKH�GLHW��RQH�E\�RQH��WR�GHWHUPLQH�ZKDW�WKH�
SDWLHQW
V�WROHUDQFH�OHYHO�LV��&DUHIXO�IRRG�FKRLFHV�DUH�YHU\�
LPSRUWDQW�GXULQJ�WKH�WUHDWPHQW�SURFHVV��3DWLHQWV�ZLWK�ODFWRVH�
LQWROHUDQFH�PXVW�EH�VPDUW�VKRSSHUV��7KH\�VKRXOG�OHDUQ�WR�UHDG�
ODEHOV�ZHOO�WR�FKHFN�LQJUHGLHQW�OLVWV�IRU�VRXUFHV�RI�ODFWRVH�
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    Hydrogen breath test

Normally, no hydrogen is present 

in air that we exhale. But, undi-

gested lactose turns into hydrogen 

gas in those people who are 

lactase deficient.

Patients are given a lactose-con-

taining drink, then their breath is 

measured for hydrogen after-

wards. People who have hydro-

gen in their breath have a lactase 

deficiency.

Some foods, some medications 

and tobacco smoking can affect 

this test, so patients need to avoid 

those before the test.

     Lactose tolerance test

A patient must go without food 

for a given time before this test. 

A lactose tolerance test involves 

drawing blood and checking it 

for fasting blood glucose (blood 

sugar) level. Then, the patient is 

given a small amount of liquid to 

drink that contains lactose. Blood 

samples are then drawn over a 

2-hour period to check glucose 

levels. Results indicate how well 

the body is able to digest lactose 

and turn it into sugar (glucose) 

that can be used by the body.

The lactose tolerance test and the 

hydrogen breath test cannot be 

done on infants and children, 

because the lactose-containing 

drink can cause severe symptoms 

for little ones.

    Stool acidity test

The stool acidity test involves 

measuring the amount of acid in 

a stool sample. This test is useful 

for children and infants as well as 

adults. Undigested lactose creates 

more acid (and sometimes, glu-

cose) in the stool, so the amount 

of acid present can indicate 

lactase deficiency.

A thorough history and physical exam help diagnose 
lactose intolerance. Diagnostic tests also may be used and 
are usually done as an outpatient at a clinic or hospital.

It's a matter of degree. Successful treat-
ment of lactose intolerance depends on 
finding out, through trial and error, how 
much lactose and what forms of it your 
body can handle.

4



Seemingly simple tactics to reduce stress 
can have dramatic, long-term benefits.

How is lactose 
intolerance treated? 
7KHUH�LV�QR�NQRZQ�ZD\�WR�LQFUHDVH�WKH�SURGXFWLRQ�RI�ODFWDVH�LQ�
WKH�ERG\��VR�V\PSWRPV�RI�ODFWRVH�LQWROHUDQFH�DUH�XVXDOO\�WUHDWHG�
E\�FRQWUROOLQJ�GLHW�

&KLOGUHQ�ZKR�KDYH�EHHQ�ERUQ�ZLWK�ODFWDVH�GHILFLHQF\�PXVW�QRW�
EH�IHG�DQ\�IRRGV�WKDW�FRQWDLQ�ODFWRVH��*HQHUDOO\�VSHDNLQJ��ROGHU�
FKLOGUHQ�DQG�DGXOWV�XVXDOO\�FDQ�KDQGOH�VRPH�ODFWRVH�
7UHDWPHQW�RI�ODFWRVH�LQWROHUDQFH�XVXDOO\�EHJLQV�ZLWK�D�WULDO�GLHW�
WKDW�UHVWULFWV�ODFWRVH�FRQWDLQLQJ�IRRGV��:KHQ�V\PSWRPV�KDYH�
LPSURYHG��WKH�SK\VLFLDQ�PD\�VXJJHVW�DGGLQJ�VRPH�RI�WKH�
IRRGV�EDFN�LQWR�WKH�GLHW��RQH�E\�RQH��WR�GHWHUPLQH�ZKDW�WKH�
SDWLHQW
V�WROHUDQFH�OHYHO�LV��&DUHIXO�IRRG�FKRLFHV�DUH�YHU\�
LPSRUWDQW�GXULQJ�WKH�WUHDWPHQW�SURFHVV��3DWLHQWV�ZLWK�ODFWRVH�
LQWROHUDQFH�PXVW�EH�VPDUW�VKRSSHUV��7KH\�VKRXOG�OHDUQ�WR�UHDG�
ODEHOV�ZHOO�WR�FKHFN�LQJUHGLHQW�OLVWV�IRU�VRXUFHV�RI�ODFWRVH�
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drawing blood and checking it 

for fasting blood glucose (blood 

sugar) level. Then, the patient is 

given a small amount of liquid to 

drink that contains lactose. Blood 

samples are then drawn over a 

2-hour period to check glucose 

levels. Results indicate how well 

the body is able to digest lactose 

and turn it into sugar (glucose) 

that can be used by the body.

The lactose tolerance test and the 

hydrogen breath test cannot be 

done on infants and children, 

because the lactose-containing 

drink can cause severe symptoms 

for little ones.

    Stool acidity test

The stool acidity test involves 

measuring the amount of acid in 

a stool sample. This test is useful 

for children and infants as well as 

adults. Undigested lactose creates 

more acid (and sometimes, glu-

cose) in the stool, so the amount 

of acid present can indicate 

lactase deficiency.

A thorough history and physical exam help diagnose 
lactose intolerance. Diagnostic tests also may be used and 
are usually done as an outpatient at a clinic or hospital.

It's a matter of degree. Successful treat-
ment of lactose intolerance depends on 
finding out, through trial and error, how 
much lactose and what forms of it your 
body can handle.
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Diet changes
��$YRLG�PLON�DQG�PLON�SURGXFWV�VXFK�DV�LFH�FUHDP��EXWWHU�DQG�
FKHHVH�
��$YRLG�IRRG�LWHPV�WKDW�FRQWDLQ�ODFWRVH��$YRLG�DQ\�IRRGV�WKDW�
OLVW�WKH�IROORZLQJ�DV�DQ�LQJUHGLHQW��PLON��ZKH\��FXUGV��FDVHLQDWH��
ODFWRJOREXOLQ��RU�PLON�E\�SURGXFWV�
��$YRLG�FHUWDLQ�PHGLFDWLRQV��$ERXW�����RI�SUHVFULSWLRQ�GUXJV�
DQG����RI�RYHU�WKH�FRXQWHU�GUXJV�XVH�ODFWRVH�DV�D�EDVH�LQJUHGL�
HQW��)RU�H[DPSOH��PDQ\�ELUWK�FRQWURO�SLOOV�FRQWDLQ�ODFWRVH��DV�GR�
VRPH�PHGLFDWLRQV�IRU�VWRPDFK�DFLG�JDV��$VN�\RXU�SKDUPDFLVW�
ZKHQ�LQ�GRXEW�
�� /RRN�IRU��KLGGHQ��VRXUFHV�RI�ODFWRVH��/LYLQJ�ZLWK�ODFWRVH�
LQWROHUDQFH�PHDQV�EHLQJ�D�VPDUW�FRQVXPHU��WKHUH�DUH�PDQ\�
�KLGGHQ��VRXUFHV�RI�ODFWRVH�WKDW�DUH�QRW�WKH�REYLRXV�GDLU\�SURG�
XFWV��([DPSOHV�RI�VRPH�IRRGV�WKDW�PD\�KDYH�KLGGHQ�VRXUFHV�RI�
ODFWRVH�DUH�
�� VDXFHV
�� GULHG�PL[HV��FDNHV��SDQFDNHV��ELVFXLWV��FRRNLHV��HWF��
�� FDQGLHV
�� SURFHVVHG�VDQGZLFK�PHDWV
�� EUHDG�	�RWKHU�EDNHG�JRRGV
�� SURFHVVHG�EUHDNIDVW�FHUHDOV
�� LQVWDQW�SRWDWRHV
�� VRXSV
�� EUHDNIDVW�GULQNV
��PDUJDULQH
�� OXQFK�PHDWV
�� VDODG�GUHVVLQJV
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7KH�PRVW�FRPPRQ�V\PSWRPV�DUH�

� � �*DV
� � �%ORDWLQJ
� � �1DXVHD
� � �'LDUUKHD
� � �$EGRPLQDO�3DLQ

Is lactose 
intolerance serious?
(YHQ�WKRXJK�LW�LV�D�ZLGHVSUHDG�DQG�XQFRPIRUWDEOH�SUREOHP��
ODFWRVH�LQWROHUDQFH�GRHV�QRW�JHQHUDOO\�SRVH�D�VHULRXV�WKUHDW�WR�
KHDOWK��7KH�DYHUDJH�SDWLHQW��RQFH�GLDJQRVHG��FDQ�OHDUQ�WR�PRGLI\
WKH�GLHW��XVH�VSHFLILF�SURGXFWV�GHVLJQHG�WR�KHOS�GLJHVW�PLON��DQG�
XVXDOO\�HOLPLQDWH�WKH�GLVFRPIRUW�DVVRFLDWHG�ZLWK�WKH�FRQGLWLRQ�

How is lactose intolerance 
diagnosed?
3HRSOH�ZKR�KDYH�D�GHILFLHQF\�RI�ODFWDVH�RIWHQ�QRWLFH�RQ�WKHLU�
RZQ�WKDW�WKH\�KDYH�SUREOHPV�DIWHU�HDWLQJ�RU�GULQNLQJ�GDLU\�
SURGXFWV��$V�V\PSWRPV�JURZ�ZRUVH��WKH\�RIWHQ�VHH�D�GRFWRU�IRU�
GLDJQRVLV�
�

Remember: (YHQ�WKRXJK�ODFWRVH�LQWROHUDQFH
PD\�VHHP�HDV\�WR�GLDJQRVH��WKHUH�DUH�RWKHU��PRUH�
VHYHUH�LOOQHVVHV�WKDW�KDYH�VLPLODU�V\PSWRPV��

$Q\WLPH�WKHUH�LV�D�FKDQJH�LQ�\RXU�SDUWLFXODU�GLJHVWLYH�
SURFHVVHV��LW�VKRXOG�EH�FKHFNHG�RXW�E\�\RXU�GRFWRU��WR�
PDNH�VXUH�\RX�GR�QRW�KDYH�D�PRUH�VHULRXV�LOOQHVV�
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�What causes lactose 
intolerance?
��+DYLQJ�DQ�LQDGHTXDWH�DPRXQW�RI�ODFWDVH�PD\�EH�WHPSRUDU\��
� RU�SHUPDQHQW�

�� 6RPHWLPHV�WKH�GHILFLHQF\�RI�ODFWDVH�FDQ�EH�D�QDWXUDO�UHVXOW�RI
� DJLQJ�

Other causes include:
�� FHUWDLQ�LQWHVWLQDO�LQIHFWLRQV

�� JDVWULF�VXUJHU\

�� WDNLQJ�VRPH�PHGLFDWLRQV��IRU�H[DPSOH��DQWLELRWLFV�DQG�VRPH�
� DQWL�LQIODPPDWRU\�GUXJV�XVHG�WR�WUHDW�DUWKULWLV�

�� UDUHO\��D�SHUVRQ�LV�ERUQ�ZLWKRXW�WKH�DELOLW\�WR�SURGXFH�ODFWDVH

What are the 
symptoms of 
lactose intolerance?

7KH�ERG\�PD\�SURGXFH�VRPH�RU�QR�ODFWDVH��'HSHQGLQJ�RQ�WKH�
OHYHO�RI�GHILFLHQF\��GLJHVWLRQ�RI�ODFWRVH�ZLOO�EH�LPSDLUHG�WR�D�
OHVVHU�RU�JUHDWHU�GHJUHH��7KHUHIRUH��V\PSWRPV�PD\�UDQJH�IURP�
PLOG�GLVFRPIRUW�WR�PDMRU�GLVFRPIRUW�
7KH�VHYHULW\�RI�WKH�V\PSWRPV�GHSHQGV�DOVR�RQ�WKH�DPRXQW�DQG�
W\SH�RI�IRRG�HDWHQ��)RU�LQVWDQFH��LI�\RX�DUH�ODFWDVH�GHILFLHQW��WKH�
PRUH�ODFWRVH�\RX�WDNH�LQ��WKH�ZRUVH�V\PSWRPV�ZLOO�EH�
6\PSWRPV�RFFXU�DIWHU�HDWLQJ�DQ\�ODFWRVH�ODGHQ�IRRG�WKDW�FDQQRW�
EH�GLJHVWHG�ZHOO��'LVFRPIRUW�XVXDOO\�EHJLQV����PLQXWHV�WR�WZR�
KRXUV�DIWHU�HDWLQJ��EXW�PD\�EH�GHOD\HG�DV�ORQJ�DV�HLJKW�KRXUV�
DIWHU�HDWLQJ�
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Lactase additives

2YHU�WKH�FRXQWHU��QRQ�SUHVFULSWLRQ��SURGXFWV�DUH�DYDLODEOH�WKDW�
FRQWDLQ�ODFWDVH��WKH�HQ]\PH�QHHGHG�WR�GLJHVW�ODFWRVH��VR�SDWLHQWV�
PD\�EH�DGYLVHG�WR�XVH�VXFK�D�SURGXFW�ZKHQ�EHJLQQLQJ�WR�
DOORZ�ODFWRVH�FRQWDLQLQJ�IRRG�EDFN�LQWR�WKH�GLHW��6RPH�RI�WKRVH�
SURGXFWV�DUH�/DFWDLQ��/DFWUDVH��'DLU\�(DVH�DQG�6XUH�ODF��6RPH�
DUH�LQ�OLTXLG�IRUP�DQG�FDQ�EH�DGGHG�WR�PLON�WR�UHGXFH�ODFWRVH�
FRQWHQW��2WKHUV�PD\�EH�WDNHQ�E\�PRXWK�LQ�WDEOHW�RU�JUDQXOH�
IRUP�DQG�KHOS�SHRSOH�GLJHVW�IRRGV�WKDW��FRQWDLQ�ODFWRVH�

0DQ\�VXSHUPDUNHWV�VWRFN�PLON�WKDW�KDV�EHHQ�SURFHVVHG�WR�EH�
ODFWRVH�IUHH��,W�RIWHQ�FRVWV�PRUH�WKDQ�RUGLQDU\�PLON�

Getting enough calcium

'DLU\�SURGXFWV�DUH�WKH�PDLQ�VRXUFH�RI�FDOFLXP��ZKLFK�LV�
HVVHQWLDO�IRU�JRRG�KHDOWK��+DYLQJ�HQRXJK�FDOFLXP�LQ�WKH�GLHW��
KHOSV�SUHYHQW�RVWHRSRURVLV��ZKLFK�FDXVHV�ERQHV�WR�EHFRPH�
WKLQ��EULWWOH�DQG�HDVLO\�EURNHQ��&DOFLXP�DOVR��KDV�PDQ\�RWKHU�
LPSRUWDQW�IXQFWLRQV�LQ�WKH�ERG\��LQFOXGLQJ�KHDOWK\�IXQFWLRQLQJ�
RI�HDFK�FHOO�LQ�\RXU�ERG\�

7KRVH�ZKR�DUH�ODFWRVH�
LQWROHUDQW�PXVW�EH�DZDUH�
WKDW�HYHQ�WKRXJK�ODFWRVH�

FRQWDLQLQJ�IRRGV�PXVW�EH�UHVWULFWHG�IRU�D�WLPH��WKH�ERG\�ZLOO�VWLOO�
QHHG�DGHTXDWH�VXSSOLHV�RI�WKH�YLWDPLQV�DQG�PLQHUDOV��HVSHFLDOO\�
FDOFLXP��W\SLFDOO\�IRXQG�LQ�GDLU\�SURGXFWV��$JDLQ��ZLVH�IRRG�
FKRLFHV�DUH�D�PXVW��&DOFLXP��DV�ZHOO�DV�RWKHU�QXWULHQWV�LQ�GDLU\�
SURGXFWV��PD\�DOVR�EH�IRXQG�LQ�RWKHU�IRRGV��VR�JRRG�QXWULWLRQ�
FDQ�VWLOO�EH�PDLQWDLQHG��ZKHQ�IRRGV�DUH�FKRVHQ�ZLWK�FDUH��,Q�
VRPH�FDVHV��\RX�PD\�EH�DGYLVHG�WR�WDNH�D�FDOFLXP�VXSSOHPHQW�
WR�PDNH�VXUH�\RX�JHW�WKH�QHHGHG�DPRXQW�RI�FDOFLXP��0RVW�
FDOFLXP�VXSSOHPHQWV�GR�QRW�FRQWDLQ�ODFWRVH��EXW�UHDG�WKH�
LQJUHGLHQW�OLVW�RU�DVN�\RXU�SKDUPDFLVW�WR�PDNH�VXUH�

The degree of symptoms felt from lactose 
intolerance is a matter of the amount of 
lactase deficiency (whether a person is 
completely or partially deficient) and the 
amount of lactose-containing food eaten 
(whether or not a person eats a lot or a 
small amount of lactose-containing foods).

Again, wise food
choices are a must!



How much calcium to 
you need?

$FFRUGLQJ�WR�WKH�1DWLRQDO�,QVWLWXWHV�RI�+HDOWK��WKH�UHFRPPHQGD�
WLRQV�IRU�GDLO\�FDOFLXP�LQWDNH��LQ�PLOOLJUDPV
�RU�PJ���DUH�

$JH�LQ�\HDUV 0HQ :RPHQ

����� ����������� �����������

����� ����� �������SUH�PHQRSDXVDO�

����� ����� �������SRVW�PHQRSDXVDO�	�WDNLQJ�HVWURJHQ�
�������SRVW�PHQRSDXVDO��QRW�WDNLQJ�HVWURJHQ�

��� ����� �����


������PLOOLJUDPV��PJ��� ���JUDP��J��

%\�NQRZLQJ�KRZ�PXFK�FDOFLXP�\RX�QHHG��\RX�FDQ�HDW�WKH�EHVW�
IRRGV�WR�VXSSO\�\RXU�QHHGV�

7KH�IROORZLQJ�FKDUW�KHOSV�WR�XQGHUVWDQG�ZKLFK�IRRGV�WR�DYRLG��
WKRVH�ZLWK�KLJK�ODFWRVH�FRQWHQW��$OVR��\RX�FDQ�VHH�ZKLFK�IRRGV�
DUH�ORZ�LQ�ODFWDVH��EXW�KLJK�LQ�FDOFLXP��(DW�PRUH�RI�WKRVH�

&DOFLXP�DQG�/DFWRVH�LQ�&RPPRQ�)RRGV

When milk becomes 
a problem: 
Lactose Intolerance
What is it?
1RUPDOO\��WKH�ERG\�LV�DEOH�WR�GLJHVW�ODFWRVH�E\�SURGXFLQJ�DQ�
HQ]\PH�FDOOHG�ODFWDVH��/DFWDVH�LV�QDWXUDOO\�SURGXFHG�LQ�WKH�ERG\�
E\�WKH�DEVRUSWLYH�FHOOV�LQ�WKH�VPDOO�LQWHVWLQH�

:KHQ�WKH�HQ]\PH�ODFWDVH�DFWV�RQ�WKH�VXJDU�ODFWRVH��ODFWRVH�LV�
EURNHQ�GRZQ�WR�D�PRUH�VLPSOH�VXJDU�WKDW�FDQ�EH�DEVRUHG�LQWR�
WKH�EORRGVWUHDP�DQG�XVHG�E\�WKH�ERG\�

:KHQ�WKH�ERG\�GRHV�QRW�SURGXFH�HQRXJK�RI�WKH�HQ]\PH��WKH�
ODFWRVH�FDQQRW�EH�GLJHVWHG�SURSHUO\�

0RVW�LQIDQWV�DQG�FKLOGUHQ�KDYH�HQRXJK�RI�WKH�ODFWDVH�HQ]\PH�
WR�GLJHVW�PLON��ZKLFK�LV�YHU\�LPSRUWDQW�WR�QRUPDO�JURZWK�DQG�
GHYHORSPHQW��%XW��DV�ZH�DJH��WKHUH�LV�D�QDWXUDO�UHGXFWLRQ�LQ�WKH�
DPRXQW�RI�ODFWDVH�SURGXFHG�E\�WKH�ERG\��:KHQ�WKH�ERG\�VWRSV�
SURGXFLQJ�ODFWDVH�RU�GRHV�QRW�SURGXFH�HQRXJK��WKH�FRQGLWLRQ�LV�
NQRZQ�DV�ODFWDVH�GHILFLHQF\�

Who is affected?
(YHQ�WKRXJK�PLON�DQG�PLON�SURGXFWV�DUH�D�SULPH�VRXUFH�RI�FDOFL�
XP�DQG�PDQ\�RWKHU�HVVHQWLDO�YLWDPLQV�DQG�PLQHUDOV��WKRVH�YHU\�
SURGXFWV�FDQ�FDXVH�GLVFRPIRUW�IRU�D�ODUJH�JURXS�RI�SHRSOH�

/DFWRVH�LQWROHUDQFH�DIIHFWV�DQ�HVWLPDWHG����WR����PLOOLRQ�
$PHULFDQV��RU�DV�PXFK�DV�����RI�WKH�DGXOW�SRSXODWLRQ��$V�PDQ\�
DV�����RI�$VLDQ�$PHULFDQV�DUH�VDLG�WR�EH�ODFWRVH�LQWROHUDQW��
3HUVRQV�ZKR�DUH�$IULFDQ�$PHULFDQ��-HZLVK��1DWLYH�$PHULFDQ�
DQG�0H[LFDQ�$PHULFDQ�DUH�DOVR�PRUH�SURQH�WR�WKH�SUREOHP��
3HUVRQV�RI�QRUWKHUQ�(XURSHDQ�GHVFHQW�DUH�OHDVW�OLNHO\�WR�GHYHORS�
WKH�SUREOHP�

18

Lactose intolerance is simply the inability 
to digest lactose, which is a complex, 
natural sugar found in milk and milk products.

Vegetables Calcium Content Lactose Content

Broccoli pieces (1 cup, cooked) 94-177 mg. 0

Chinese cabbage/bok choy
(1 cup, cooked) 158 mg. 0

Collard greens (1 cup, cooked) 148-357 mg. 0

Kale (1 cup, cooked) 94-179 mg. 0

Turnip greens (1 cup, cooked) 194-249 mg. 0
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Dairy Products Calcium Content Lactose Content

Ice cream/ice milk (8 oz.) 176 mg. 6-7g

Milk
(whole, low-fat, skim, buttermilk, 8 oz.) 291-316 mg. 12-13g

Processed cheese (1 oz.) 159-215 mg. 12-13g

Sour cream (4 oz.) 134 mg. 4-5g

Yogurt (plain, 8 oz.) 274-415 mg. 12-13g

Fish/Seafood Calcium Content Lactose Content

Oysters (1 cup, raw) 226 mg. 0

Salmon with bones (canned, 3 oz.) 167 mg. 0

Sardines (3 oz.) 371 mg. 0

Shrimp (canned, 3 oz.) 98 mg. 0

Other Calcium Content Lactose Content

Molasses (2 tbsp.) 274 mg. 0

Tofu
(processed with milk salts, 3 oz.) 225 mg. 0

In Summary…
(YHQ�WKRXJK�ODFWRVH�LQWROHUDQFH�LV�D�ZLGHVSUHDG�DQG�XQFRP�
IRUWDEOH�SUREOHP��LW�LV�QRW�JHQHUDOO\�D�PDMRU�WKUHDW�WR�\RXU�JRRG�
KHDOWK��:RUNLQJ�ZLWK�\RXU�JDVWURHQWHURORJLVW��D�WUHDWPHQW�SODQ�
ZLOO�EH�GHYHORSHG�WR�NHHS�\RXU�V\PSWRPV�WR�D�PLQLPXP��$QG��
PDQ\�SDWLHQWV�ZLOO�EH�DEOH�WR�HQMR\�GDLU\�SURGXFWV�DJDLQ�DW�D�
ODWHU�SRLQW�LQ�WLPH�

(���

Read Labels! 5HPHPEHU��\RX�FDQ�DOZD\V�ÀQG�
RXW�KRZ�PXFK�FDOFLXP�LV�LQ�D�SDUWLFXODU�IRRG�E\�
ORRNLQJ�DW�LW
V�ODEHO��<RX�FDQ�DOVR�ÀQG�RXW�ZKHWKHU�

RU�QRW�LW�FRQWDLQV�ODFWRVH�E\�UHDGLQJ�WKH�ODEHO�DQG�ORRNLQJ�IRU�
LQJUHGLHQWV�VXFK�DV�PLON��PLON�E\�SURGXFWV��PLON�VROLGV��QRQ�
IDW�GU\�PLON�SRZGHU��ZKH\��FXUGV��FDVHLQDWH��RU�ODFWRJOREXOLQ�


